
7=o; cjlwsf] vr{ /sd / k|ltztM1128.05 -96.49%_ 12= ;f]wegf{ l:yltM

s= efu ug"{kg]{ /sdM

v= dfu u/]sf] /sd M

u= k|fKt x"g af+sL /sdM

8= rfn" cf=j=sf] xfn;Ddsf] vr{ /sd / k|ltztM1128.05 -96.49%_

1128.05 -96.55%

10= cfof]hgfsf] z"?b]lv o; cjlw;Ddsf] ef}lts k|ult k|ltztMM99.95%

11= cfof]hgfsf] s"n cjlwdWo] lat]sf] ;do k|ltztdfM100%

kl/df)f ef/ ah]^ kl/df)f efl/t vr{ kl/df)f efl/t vr{

c_ 

1
cfsl:ds klx/f] Joj:yfkg tyf gbL 

vf]nf  lgoGq)f 
j^f 6 11.33 120 6 11.33 120.00 6 11.33 120

2 uN%L klx/f] tyf vx/] lgoGq)f j^f 21 20.76 220 18 20.76 220.00 18 20.76 220

3
kfgL d"xfg ;+/If)f/kf]v/L lgdf{)f sfo{s|d

j^f 10 4.72 50 10 4.72 50 10 4.72 50

4

gbL k|)ffnLdf cfwfl/t pkhnfwf/ 

If]qx?sf] ;DefJotf cWoog tyf lj:t[t 

of]hgf lgdf{)f

j^f 1 1.42 15 1 0.66 7.02 1 0.66 7.02

5

;+j]bglzn pkhnfwf/ If]qx?df s[lif jg 

k|)ffnL k|jw{g -*Fn]#f+; tyf kmnkm"nsf 

lj?jf ljt/)f / /f]k)f_ 

x]S^/ 70 2.97 31.5 70 2.97 31.48 70 2.97 31.48

6
;+j]bglzn zx/L hnfwf/ If]q ;+/If)f 

sfoqmd 
Ifqkmn/:yfg 15 17.70 187.5 15 17.70 187.50 15 17.70 187.5

7 glb tyf vf]nf lsgf/f Joj:yfkg ls=dL= 6.46 30.49 323 5 30.49 323.00 5 30.49 323

3= dGqfnoM pBf]u, ko{^g, jg tyf jftfj/)f dGqfno          2_ :yfgLo ;/sf/M

k'lh+ut vr{ cGtu{tsf sfo{qmdx?

aflif{s k|ult k|ltj]bg

e' tyf hnfwf/ Joj:yfkg sfof{no, t"n;Lk"/, bfª 

1= cf=j=M 077.78

2= ah]^ pklzif{s g+M 30700015 s= cfGt/LsM 1_ k|b]z ;/sf/ 1128.05  

        2_ cg"bfgM /sd ? nfvdf

4= sfo{qmdsf] gfdM e' ;+/If)f tyf hnfwf/ Joj:yfkg          3_ hg;xeflutfM

5= sfof{no k|d"vsf] gfdM s[i)f k|;fb kf}*]n v= j}b]lzsM 1_ C)fM

6= o; cjlwsf] ah]^ ?M 1169.07         2_ cg"bfgM

s= cfGt/LsM 1_ k|b]z ;/sf/M 1169.07

        2_ :yfgLo ;/sf/M 9= s'n nfut dWo] z"?b]lv o; cjlw;Ddsf] s'n vr{ /sd / k|ltztM

        3_ hg;xeflutfM

v= j}b]lzsM 1_ C)fM

l;=g+= sfo{qmd÷lqmofsnfkx? OsfO{
jflif{s nIo

k|ltj]bg cjlw;Dd o; 

cf=j=sf] k|ult s}lkmo

t

aflif{s k|ult



8
u|fld)f ;*s;+u e' ;+/If)f 

sfo{qmd
ls=dL= 2.5 9.91 105 2.5 9.91 105.00 2.5 9.91 105

99.29 1052 98.54 1044.00 98.54 1044

1 lgld{t ejgsf] ;+/rgfTds ;"wf/ 1 0.97 0.97

2 d]lzg/L tyf cf}hf/ 1 1.00 1.00

3 ;jf/L ;fwg 2.5 2.5 2.5

4 kmlg{r/ tyf lkmSr;{ 1 0.99 0.99

s k'lh+ut hDdf 1056.5 1049.46 1049.46

cf_

1
e' tyf hnfwf/ Joj:yfkg ;DalGw 

sfo{s|d If]q/lhNnf 1 0.71 7.5 1 0.50 5.34 1 0.50 5.34

v_ 1 0.71 7.5 1 0.50 5.34 0.50 5.34

u_ sfo{qmd vr{sf] hDdf 100 1059.5 99.04 1049.34 99.04 1049.34

#_

ª_ 

r_ s'n hDdf vr{ 1169.07 99.04 1128.75 99.04 1128.75

rfn" vr{ sfo{qmdsf] hDdf

k'lh+ut vr{ sfo{qmdsf] hDdf

rfn" vr{ cGtu{tsf sfo{qmdx?

tof/ ug]{ M k|dfl)ft ug]{ M

73.24 73.24

efl/t k|ult M99.04%

104.07k|zf;lgs -pkef]u / ;+rfng_ vr{



aflif{s k|ult k|ltj]bg

e' tyf hnfwf/ Joj:yfkg sfof{no, t"n;Lk"/, bfª 


